

On fuzzy ideals of BCI-algebras

A. KORDI

Department of Mathematics, Tarbiat Modarres University,
P.O.Box. 14115-170, Tehran, Iran
e-mail: ali.kordi@gmail.com

and

A. MOUSSAVI*

Department of Mathematics, Tarbiat Modarres University,
P.O.Box. 14115-170, Tehran, Iran
e-mail: moussavi_a5@yahoo.com

(Received: April 15, 2006 and in revised form: October 31, 2006)

Abstract. The fuzzy p -ideals, fuzzy H -ideals and fuzzy BCI-positive implicative ideals of BCI-algebras are studied, and related properties are investigated. We also give some characterizations of these ideals.

Mathematics Subject Classifications (2000). 03G25, 06F35, 06B99

1 Introduction

BCK/BCI-algebras are two important classes of logical algebras introduced by Iseki in 1966 (see [5,6,14]). Since then, a great deal of literature has been produced on the theory of BCK/BCI-algebras. In particular, emphasis seems to have been put on the ideal theory of BCK/BCI-algebras (see [15]).

Meng [15] introduced the notions of implicative ideals and commutative ideals in BCK-algebras and applied them to characterize implicative BCK-algebras and commutative BCK-algebras, respectively. Meng also showed that a non-empty subset of a BCK-algebra is an implicative ideal if and only if it is both a commutative ideal and a positive implicative ideal. All the above results motivate us to further investigate the relations between algebras and ideals and between ideals and ideals. The notion of quasi-associative BCI-algebras was introduced by Xi [19]. They are all important classes of BCI-algebras. In [21], the notion of p -ideals was introduced and used to characterize semisimple BCI-algebras.

The concept of fuzzy subset and various operations on it were first introduced by Zadeh in [20]. Since then, fuzzy subsets have been applied to diverse fields. The study of fuzzy subsets and their application to mathematical contexts has reached to what is now commonly called fuzzy mathematics. Fuzzy algebra is an important branch of fuzzy mathematics. The study of fuzzy algebraic structures was started with the introduction of the concept of fuzzy sub-groups in 1971 by Rosenfeld [17]. Since then these ideas have been applied to other algebraic structures such as semigroups, rings, ideals, modules and vector spaces. In

*Corresponding author

1999, Ougen [16] defined fuzzy subsets in BCK-algebras and investigated some properties. In 1993, Jun [8] applied it in BCI-algebras. Fuzzy p -ideals and fuzzy H -ideals in BCI-algebras is introduced in [9], [10] respectively and several interesting properties of these concepts are studied. Following [9] and [10], we study and give some characterizations of these ideals.

BCK/BCI-algebras are two important classes of logical algebras introduced by Iseki in 1966 (see [5,6]):

An algebra $(X; *, 0)$ of type (2,0) is called a BCI-algebra if it satisfies the following axioms:

- (I) $((x * y) * (x * z)) * (z * y) = 0$,
- (II) $(x * (x * y)) * y = 0$,
- (III) $x * x = 0$,
- (IV) $x * y = 0$ and $y * x = 0$ imply $x = y$.

In a BCI-algebra X , a partially ordered relation \leq can be defined by

$$x \leq y \text{ if and only if } x * y = 0.$$

A BCI-Algebra X satisfies the following properties:

- (1.1) $(x * y) * z = (x * z) * y$,
- (1.2) $x * 0 = x$,
- (1.3) $0 * (x * y) = (0 * x) * (0 * y)$,
- (1.4) $0 * (0 * (x * y)) = 0 * (y * x)$,
- (1.5) $(x * z) * (y * z) \leq x * y$,
- (1.6) $x * y = 0$ implies $x * z \leq y * z$ and $z * y \leq z * x$.

DEFINITION 1.1 A subset A of a BCI-algebra X is called an ideal if (i₁) $0 \in A$, (i₂) for any $x, y \in X$, $x * y, y \in A$ imply $x \in A$.

DEFINITION 1.2 (JUN [8]) An ideal A in a BCI-algebra X is said to be closed if for all $x \in X$, $0 * x \in A$ implies $x \in A$.

DEFINITION 1.3 (ZADEH [20]) Let X be a set. A fuzzy set μ in X is a function $\mu : X \rightarrow [0, 1]$.

NOTATION. Let μ and ν be fuzzy sets in a BCI-algebra X . By $\mu \leq \nu$ we mean that $\mu(x) \leq \nu(x)$ for any $x \in X$.

DEFINITION 1.4 ([8]) Let μ be a fuzzy subset of a BCI-algebra X . For $t \in [0, 1]$, the set $\mu_t = \{x \in X \mid \mu(x) \geq t\}$ is called a level subset of μ .

DEFINITION 1.5 ([8]) A fuzzy set μ in a BCI-algebra X is said to be a fuzzy ideal in X if it satisfies

$$(F_1) \quad \mu(0) \geq \mu(x),$$

$$(F_2) \quad \mu(x) \geq \min\{\mu(x * y), \mu(y)\} \text{ for all } x, y \in X.$$

DEFINITION 1.6 (JUN [8]) A fuzzy ideal μ in a BCI-algebra X is said to be closed if for all $x \in X$, $\mu(0 * x) \geq \mu(x)$.

PROPOSITION 1.7 ([13]) Let μ be a fuzzy ideal in a BCI-algebra X , then $x \leq y$ implies $\mu(y) \leq \mu(x)$.

PROPOSITION 1.8 ([13]) A fuzzy set μ satisfying (F_1) in a BCI-algebra X is a fuzzy ideal if and only if for all $x, y, z \in X$, $(x * y) * z = 0$ implies $\mu(x) \geq \min\{\mu(y), \mu(z)\}$.

2 Fuzzy p -ideals of BCI-algebras

In [21], the notion of a p -ideal of a BCI-algebra was introduced and various properties were proved. In this section fuzzy p -ideals of BCI-algebras are studied.

DEFINITION 2.1 ([21, ZHANG]) A nonempty subset A in a BCI-algebra X is called a p -ideal of X if it satisfies

$$(i_1) \quad 0 \in A,$$

$$(i_3) \quad \text{If for all } x, y, z \in X, (x * z) * (y * z) \in A \text{ and } y \in A, \text{ imply that } x \in A.$$

If we put $z = 0$, then it follows that A is an ideal. Thus every p -ideal is an ideal.

PROPOSITION 2.2 ([21]) An ideal A of a BCI-algebra X is a p -ideal of X if and only if $0 * (0 * x) \in A$ implies $x \in A$, where $x \in X$.

DEFINITION 2.3 ([9]) Let X be a BCI-algebra. A fuzzy subset μ in X is called a fuzzy p -ideal if it satisfies

$$(F_1) \quad \mu(0) \geq \mu(x),$$

$$(F_2) \quad \mu(x) \geq \min\{\mu((x * z) * (y * z)), \mu(y)\}, \text{ for all } x, y, z \in X.$$

PROPOSITION 2.4 ([11]) Let X be a BCI-algebra. A fuzzy ideal μ of a BCI-algebra is a fuzzy p -ideal if and only if $\mu(x) \geq \mu(0 * (0 * x))$.

Now, we give an extension theorem about fuzzy p -ideals of BCI-algebras.

THEOREM 2.5 *Let μ and ν be fuzzy ideals of a BCI-algebra X such that $\mu \leq \nu$ and $\mu(0) = \nu(0)$. If μ is a fuzzy p -ideal of X , then so is ν .*

Proof. By Proposition 2.4, it is enough to show that $\nu(x) \geq \nu(0*(0*x))$ for each $x \in X$. Putting $s = 0*(0*x)$, then $0*(0*(x*s)) = (0*(0*x))*(0*(0*s)) = (0*(0*x))*(0*(0*(0*(0*x)))) = (0*(0*x))*(0*(0*x)) = 0$, by properties (1.3) and (1.4). Hence $\mu(0*(0*(x*s))) = \mu(0) = \nu(0)$. Since μ is a fuzzy p -ideal of X , and using Proposition 2.4, we get $\mu(x*s) \geq \mu(0*(0*(x*s))) = \nu(0)$. Thus $\nu(x*s) \geq \mu(x*s) \geq \nu(0) \geq \nu(s)$. Since ν is a fuzzy ideal, we have $\nu(x) \geq \min\{\nu(x*s), \nu(s)\} = \nu(s) = \nu(0*(0*x))$. So ν is a fuzzy p -ideal of X .

THEOREM 2.6 *A fuzzy set μ of a BCI-algebra X is a fuzzy p -ideal of X if and only if for all $t \in [0, 1]$, μ_t is either empty or a p -ideal of X .*

Proof. Let μ be a fuzzy p -ideal in X and $\mu_t \neq \emptyset$ for $t \in [0, 1]$. Since $\mu(0) \geq \mu(x) \geq t$ for any $x \in \mu_t$, we get $0 \in \mu_t$. If $(x*z)*(y*z) \in \mu_t$ and $y \in \mu_t$, then $\mu((x*z)*(y*z)) \geq t$ and $\mu(y) \geq t$. By (F_3) , we have $\mu(x) \geq \min\{\mu((x*z)*(y*z)), \mu(y)\} \geq t$. Hence $x \in \mu_t$. This means that μ_t is a p -ideal of X . Conversely, suppose that for each $t \in [0, 1]$, μ_t is either empty or a p -ideal of X . For any $x \in X$, setting $\mu(x) = t$, then $x \in \mu_t$. Since $\mu_t (\neq \emptyset)$ is a p -ideal of X , we have $0 \in \mu_t$ and hence $\mu(0) \geq t = \mu(x)$. Thus $\mu(0) \geq \mu(x)$ for all $x \in X$. Now we prove that μ satisfies (F_3) . If not, then there exist $x_0, y_0, z_0 \in X$ such that $\mu(x_0) < \min\{\mu((x_0*z_0)*(y_0*z_0)), \mu(y_0)\}$. Put $t_0 = 1/2[\mu(x_0) + \min\{\mu((x_0*z_0)*(y_0*z_0)), \mu(y_0)\}]$, then $\mu(x_0) < t_0 < \min\{\mu((x_0*z_0)*(y_0*z_0)), \mu(y_0)\}$. Hence $(x_0*z_0)*(y_0*z_0) \in \mu_{t_0}$ and $y_0 \in \mu_{t_0}$. But $x_0 \notin \mu_{t_0}$, thus μ_{t_0} is not a p -ideal of X . This contradicts the hypothesis. Therefore μ is a fuzzy p -ideal of X .

THEOREM 2.7 *Let I be a p -ideal of a BCI-algebra X . Then there exists a fuzzy p -ideal μ of X such that $\mu_t = I$, for some $t \in (0, 1]$.*

Proof. Define $\mu : X \rightarrow [0, 1]$ by

$$\mu(x) = \begin{cases} t; & x \in I \\ 0; & x \notin I, \end{cases}$$

where t is a fixed number in $(0, 1]$. We show that μ is a fuzzy p -ideal of X . Since I is a p -ideal of X , if $0*(0*x) \in I$ then $x \in I$. Hence $\mu(0*(0*x)) = \mu(x) = t$. If $0*(0*x) \notin I$, $x \in I$ then $\mu(x) = t > 0 = \mu(0*(0*x))$ and if $0*(0*x) \notin I$, $x \notin I$ then $\mu(x) = 0 = \mu(0*(0*x))$. Therefore, $\mu(x) \geq \mu(0*(0*x))$. This means that μ satisfies (F_3) . Since $0 \in I$, $\mu(0) = t \geq \mu(x)$ for all $x \in X$ and so μ satisfies F_1 . Then μ is a fuzzy p -ideal of X . It is clear that $\mu_t = I$ and so the result follows.

3 Fuzzy H -ideals of BCI-algebras

In [10], the notion of a H -ideal of a BCI-algebra was introduced and various properties were proved. The aim of this section is to investigate the properties

of fuzzy H -ideals of BCI-algebras.

DEFINITION 3.1 ([10]) A nonempty subset A of a BCI-algebra X is called an H -ideal of X if it satisfies

- (i₁) $0 \in A$,
- (i₄) $x * (y * z) \in A, y \in A$ imply $x * z \in A$.

If we put $z = 0$, then it follows that A is an ideal. Thus, every H -ideal is an ideal.

DEFINITION 3.2 ([10]) A fuzzy subset μ of a BCI-algebra X is called a fuzzy H -ideal if it satisfies

- (F₁) $\mu(0) \geq \mu(x)$,
- (F₅) $\mu(x * z) \geq \min\{\mu(x * (y * z)), \mu(y)\}$, for all $x, y, z \in X$.

Clearly $z = 0$ gives μ is a fuzzy ideal of X .

PROPOSITION 3.3 ([10]) A fuzzy set μ of a BCI-algebra X is a H -ideal of X if and only if for any $t \in [0, 1]$, μ_t is either empty or an H -ideal of X .

THEOREM 3.4 Let μ be a fuzzy ideal of a BCI-algebra X . Then the following are equivalent:

- (i) μ is a fuzzy H -ideal of X ,
- (ii) $\mu((x * y) * z) \geq \mu(x * (y * z))$ for all $x, y, z \in X$,
- (iii) $\mu(x * y) \geq \mu(x * (0 * y))$.

Proof. (i)→(ii) Since μ is a fuzzy H -ideal of X , we have $\mu((x * y) * z) \geq \min\{\mu((x * y) * (0 * z)), \mu(0)\} = \mu((x * y) * (0 * z))$. On the other hand $(x * y) * (0 * z) = (x * y) * ((y * z) * y) \leq x * (y * z)$, thus $\mu(x * (y * z)) \leq \mu((x * y) * (0 * z))$.

(ii)→(iii) Letting $y = 0$ and $z = y$ in (F₅).

(iii)→(i) Since $(x * (0 * y)) * (x * (z * y)) \leq (z * y) * (0 * y) \leq z$, by Proposition 2.4 we have $\mu(x * (0 * y)) \geq \min\{\mu(x * (z * y)), \mu(z)\}$. Hence by hypothesis $\mu(x * y) \geq \min\{\mu(x * (z * y)), \mu(z)\}$. Therefore μ is a fuzzy H -ideal of X .

THEOREM 3.5 Let μ be an fuzzy ideal of BCI-algebra X . If $\mu(x * y) \geq \mu(x)$ for all $x, y \in X$, then μ is a H -ideal of X .

Proof. Since μ is an ideal of X , by hypothesis we have $\min\{\mu(x * (y * z)), \mu(y)\} \leq \min\{\mu((x * z) * (y * z)), \mu(y * z)\} \leq \mu(x * z)$, for all $x, y, z \in X$.

DEFINITION 3.6 ([11]) Let X be a BCI-algebra. A fuzzy set μ in X is said to be a fuzzy subalgebra of X if $\mu(x * y) \geq \min\{\mu(x), \mu(y)\}$ for all $x, y \in X$.

THEOREM 3.7 *A fuzzy H -ideal μ of a BCI-algebra X is a fuzzy subalgebra of X .*

Proof. If μ is a fuzzy H -ideal, then by (F_5) , we have $\mu(x * z) \geq \min\{\mu(x * (y * z)), \mu(y)\}$. Putting $z = y$, then $\mu(x * y) \geq \min\{\mu(x), \mu(y)\}$. This shows that μ is a subalgebra of X .

Now, we give an extension theorem about fuzzy H -ideals of BCI-algebras.

THEOREM 3.8 *Let μ and ν be fuzzy ideals of a BCI-algebra X such that $\mu \leq \nu$ and $\mu(0) = \nu(0)$. If μ is a fuzzy H -ideal of X , then so is ν .*

Proof. By Theorem 3.4 (iii) it is enough to show that $\nu(x * y) \geq \nu(x * (0 * y))$ for each $x, y \in X$. Putting $s = x * (0 * y)$, we have $(x * s) * (0 * y) = 0$. Hence $\mu((x * s) * (0 * y)) = \mu(0) = \nu(0)$. By Theorem 3.4 (iii), since μ is a fuzzy H -ideal of X , $\mu((x * s) * y) \geq \mu((x * s) * (0 * y)) = \nu(0)$. Thus, $\nu((x * y) * s) \geq \mu((x * y) * s) \geq \nu(0) \geq \nu(s)$. Since ν is a fuzzy ideal, we have $\nu(x * y) \geq \min\{\nu((x * y) * s), \nu(s)\} = \nu(s) = \nu(x * (0 * y))$ and the result follows.

PROPOSITION 3.9 ([8]) *A fuzzy set μ of a BCI-algebra X is a closed fuzzy ideal of X if and only if for every $t \in [0, 1]$, μ_t is either empty or a closed ideal of X .*

THEOREM 3.10 *Let I be a H -ideal of a BCI-algebra X . Then there exists a fuzzy H -ideal μ of X such that $\mu_t = I$ for some $t \in (0, 1]$.*

Proof. The proof is similar to that of Theorem 2.6.

THEOREM 3.11 *Let X be a BCI-algebra. Then the following are equivalent:*

- (i) *every H -ideal of X is closed,*
- (ii) *every fuzzy H -ideal of X is a closed fuzzy ideal of X .*

Proof. Let μ be a fuzzy H -ideal of X , then by Proposition 3.3, μ_t is a H -ideal of X . Thus μ_t is a closed ideal of X . Hence by Proposition 3.9, μ is a closed fuzzy ideal of X . Conversely, assume that I is a H -ideal of X . By Theorem 3.10, there exists a fuzzy H -ideal μ of X such that $\mu_t = I$ for some $t \in (0, 1]$. Since μ is a fuzzy H -ideal of X , μ is a closed fuzzy ideal of X . Hence by Proposition 3.9, μ_t is a closed ideal of X . So I is a closed ideal of X .

EXAMPLE 3.12 Let $X = \{0, 1, 2, 3\}$. Define $*$ on X as

| | | | | |
|-----|---|---|---|---|
| $*$ | 0 | 1 | 2 | 3 |
| 0 | 0 | 0 | 3 | 2 |
| 1 | 1 | 0 | 3 | 2 |
| 2 | 2 | 2 | 0 | 3 |
| 3 | 3 | 3 | 2 | 0 |

Then X is a BCI-algebra. Define $\mu : X \rightarrow [0, 1]$ as $\mu(0) = \mu(1) = 1$ and $\mu(2) = \mu(3) = 1/2$. Then routine calculations show that μ is a fuzzy p -ideal of

X but it is not an H -ideal of X . Since $\mu(3) = \mu(2 * 3) < \mu(2 * (0 * 3)) = \mu(0)$ this contradicts Theorem 3.4 (iii).

EXAMPLE 3.13 ([10]) Let $X = \{0, l, m, n, p, q\}$. Define $*$ on X as

| | | | | | | |
|-----|-----|-----|-----|-----|-----|-----|
| $*$ | 0 | l | m | n | p | q |
| 0 | 0 | 0 | 0 | n | n | n |
| l | l | 0 | l | p | n | p |
| m | m | m | 0 | q | q | n |
| n | n | n | n | 0 | 0 | 0 |
| p | p | n | p | l | 0 | l |
| q | q | q | n | m | m | 0 |

Then X is a BCI-algebra. Define $\mu : X \rightarrow [0, 1]$ as $\mu(0) = t_1, \mu(l) = t_2, \mu(m) = \mu(q) = \mu(p) = \mu(n) = t_3$, for $t_1 > t_2 > t_3$. Then routine calculations show that μ is a fuzzy H -ideal of X but it is not a fuzzy p -ideal of X , since $\mu(m) < \min\{\mu((m * m) * (0 * m)), \mu(0)\}$. This contradicts Definition 2.3.

4 Fuzzy positive implicative BCI-algebra

In this section we obtain some characterizations of fuzzy BCI-positive implicative ideals of BCI-algebras and investigate their properties.

DEFINITION 4.1 ([11]) Let X be a BCI-algebra. A fuzzy set μ in X is called a fuzzy BCI-positive implicative ideal of X if it satisfies (F_1) and

$$(F_4) \mu(x * z) \geq \min\{\mu(((x * z) * z) * (y * z)), \mu(y)\} \text{ for all } x, y, z \in X.$$

PROPOSITION 4.2 ([11]) Let μ be a fuzzy ideal of a BCI-algebra X . Then the following are equivalent:

- (i) μ a fuzzy BCI-positive implicative ideal of X ,
- (ii) $\mu(x * y) = \mu(((x * y) * y) * (0 * y))$ for all $x, y \in X$,
- (iii) $\mu(x * y) \geq \mu(((x * y) * y) * (0 * y))$ for all $x, y \in X$.

COROLLARY 4.3 ([11]) Any fuzzy p -ideal is a fuzzy BCI-positive implicative ideal, but the converse is not true.

COROLLARY 4.4 Let I be a p -ideal of a BCI-algebra X . Then there exists a fuzzy BCI-positive implicative ideal μ of X such that $\mu_t = I$, for some $t \in (0, 1]$.

Proof. Combining Theorem 2.6 and Corollary 4.3 implies the result.

Recall that for each x, y in a BCI-algebra X , $x \wedge y$ is defined to be $x \wedge y = y * (y * x)$.

COROLLARY 4.5 *Let X be a BCI-algebra and μ a fuzzy BCI-positive implicative ideal of X such that $\mu(x \wedge y) \leq \mu(y)$. Then μ is a H -ideal of X .*

Proof. Since μ is fuzzy BCI-positive implicative by Proposition 4.2, we have $\mu(x * y) \geq \mu(((x * y) * y) * (0 * y)) \geq \min\{\mu(((x * y) * y) * (0 * y)) * x, \mu(x)\} = \min\{\mu(0 * y), \mu(x)\} \geq \min\{\mu(x \wedge (0 * y)), \mu(x)\} = \mu(x)$. Thus by Theorem 3.5, μ is a H -ideal of X .

THEOREM 4.6 *Let μ be a fuzzy ideal of a BCI-algebra X . If for any $x, y \in X$, $\mu(x * (x * (y * (y * x)))) \geq \mu((x * (x * y)) * (y * x))$ then μ is a fuzzy BCI-positive implicative ideal.*

Proof. Putting $u = x * y$, we have $\mu((u * (u * x)) * (x * u)) = \mu(((x * y) * ((x * y) * x)) * (x * (x * y))) = \mu(((x * y) * (0 * y)) * (x * (x * y))) = \mu(((x * (x * (x * y))) * y) * (0 * y)) = \mu(((x * y) * y) * (0 * y))$. On the other hand $\mu(u * (u * (x * (x * u)))) = \mu((x * y) * ((x * y) * ((x * y) * (x * (x * y))))) = \mu((x * y) * ((x * y) * (x * y))) = \mu(x * y)$. By hypothesis we have $\mu(u * (u * (x * (x * u)))) \geq \mu((u * (u * x)) * (x * u))$. Therefore $\mu(x * y) \geq \mu(((x * y) * y) * (0 * y))$. Hence by Proposition 4.2 (iii), μ is a fuzzy BCI-positive implicative ideal.

DEFINITION 4.7 (SEE ALSO [2]) *Let μ be a fuzzy ideal of a BCI-algebra X and $x \in X$. Then the fuzzy subset μ_x which is defined by $\mu_x(y) = \min\{\mu(x * y), \mu(y * x)\}$ is called a fuzzy coset of μ . The set of all fuzzy cosets of μ is denoted by X/μ .*

PROPOSITION 4.8 ([1]) *A BCI-algebra is positive implicative (i.e., weakly positive implicative) if and only if it satisfies $x * y = ((x * y) * y) * (0 * y)$.*

In [11], it is proved that, if μ is a fuzzy BCI-positive implicative ideal, then $(X/\mu, *, \mu_0)$ is a positive implicative BCI-algebra, where for each $\mu_x, \mu_y \in X/\mu$, $\mu_x * \mu_y = \mu_{x * y}$. Now we show that the converse is valid for closed fuzzy ideals.

THEOREM 4.9 *Let μ be a closed fuzzy ideal of a BCI-algebra X . Then μ is a fuzzy BCI-positive implicative ideal if and only if $(X/\mu, *, \mu_0)$ is a positive implicative BCI-algebra.*

Proof. Let $(X/\mu, *, \mu_0)$ be a positive implicative BCI-algebra. By Proposition 4.8 we have, $\mu_x * \mu_y = ((\mu_x * \mu_y) * \mu_y) * (\mu_0 * \mu_y)$. Therefore $\mu_{x * y} = \mu_{((x * y) * y) * (0 * y)}$. Hence $\mu(0) = \mu((x * y) * (((x * y) * y) * (0 * y)))$ and $\mu(0) = \mu(((x * y) * y) * (0 * y) * (x * y))$. Since μ is a fuzzy ideal, therefore $\mu(x * y) \geq \min\{\mu((x * y) * (((x * y) * y) * (0 * y))), \mu(((x * y) * y) * (0 * y))\} = \mu(((x * y) * y) * (0 * y))$ and $\mu(((x * y) * y) * (0 * y)) \geq \min\{\mu(((x * y) * y) * (0 * y)) * (x * y), \mu(x * y)\} = \mu(x * y)$. Hence $\mu(x * y) = \mu(((x * y) * y) * (0 * y))$. By Proposition 4.2 (iii), μ is a fuzzy BCI-positive implicative ideal and the result follows by [11, Theorem 5.8].

THEOREM 4.10 *Suppose that μ is a closed fuzzy ideal of a BCI-algebra X . Then the following are equivalent:*

(i) μ is fuzzy BCI-positive implicative.

(ii) For all $x, y \in X$, $\mu((x * (x * y)) * (y * x)) = \mu(x * (x * (y * (y * x))))$.

Proof. (i)→(ii) Assume that μ is fuzzy BCI-positive implicative. By hypothesis μ is a closed fuzzy ideal of X , hence $(X/\mu, *, \mu_0)$ is positive implicative. Therefore we have $(\mu_x * (\mu_x * \mu_y)) * (\mu_y * \mu_x) = \mu_x * (\mu_x * (\mu_y * (\mu_y * \mu_x)))$. Then $\mu_{(x*(x*y))*(y*x)} = \mu_{x*(x*(y*(y*x)))}$, thus $\mu(0) = \mu(((x * (x * y)) * (y * x)) * (x * (x * (y * (y * x))))$) and $\mu(0) = \mu((x * (x * (y * (y * x)))) * ((x * (x * y)) * (y * x)))$ for all $x, y \in X$. Since μ is a fuzzy ideal, we have $\mu((x * (x * y)) * (y * x)) \geq \mu(x * (x * (y * (y * x))))$ and $\mu(x * (x * (y * (y * x)))) \geq \mu((x * (x * y)) * (y * x))$. Hence $\mu((x * (x * y)) * (y * x)) = \mu(x * (x * (y * (y * x))))$.

(ii)→(i) By Theorem 4.6 it is clear.

Acknowledgements. The authors thank the referee for his/her valuable comments and suggestions. The results of this paper were obtained during the first authors studies at Tarbiat Modarres University and are also contained in his thesis. I would like to express deep gratitude to my supervisor and friend Ahmad Moussavi whose guidance and support were crucial for the successful completion of this project.

References

- [1] M.A. CHAUDHARY, *Weakly positive implicative and weakly implicative BCI-algebra*, Math. Japonica, **35** (1990), 141–151.
- [2] A. HASANKHANI and H. SAADAT, *Some quotients on a BCK-algebra generated by a fuzzy set*, Iranian Journal of Fuzzy Systems, **1** (2) (2004), 33–43.
- [3] C.S. HOO, *Closed ideals and p-semisimple BCI-algebras*, Math. Japon., **23** (1990), 1103–1112.
- [4] Y. HUANG, *On positive and weakly positive implicative BCI-algebras*, Southeast Asian Bulletin of Mathematics, **26** (2002), 575–582.
- [5] K. ISEKI, *On BCI-algebras*, Math. Seminar Notes, **8** (1980), 125–130.
- [6] K. ISEKI and S. TANAKA, *An introduction to the theory of BCK-algebras*, Math. Japonica, **23** (1978), 1–26.
- [7] Y.B. JUN, *A note on nil ideals in BCI-algebras*, Math. Japonica, **38** (6) (1993), 1017–1021.
- [8] Y.B. JUN, *Closed fuzzy ideals in BCI-algebras*, Math. Japonica, **38** (1) (1993), 199–202.
- [9] Y.B. JUN and J. MENG, *Fuzzy p-ideals in BCI-algebras*, Math. Japonica, **40** (2) (1994), 271–282.

- [10] H.M. KHALID and B. AHMAD, *Fuzzy H-ideals in BCI-algebras*, Fuzzy Sets and Systems, **101** (1999), 153–158.
- [11] Y.L. LIU and J. MENG, *Fuzzy ideals in BCI-algebras*, Fuzzy Sets and Systems, **123** (2001), 227–237.
- [12] J. MENG and H.A.S. ABUJABAL, *On closed ideals in BCI-algebras*, Math. Japon., **44** (1996), 499–505.
- [13] J. MENG and X. GUO, *On fuzzy ideals of BCK/BCI-algebras*, Fuzzy Sets and Systems, **149** (3) (2005), 509–525.
- [14] J. MENG and Y.B. JUN, *BCK-algebras*, Kyung Moon Sa Co., Seoul, Korea, 1994.
- [15] J. MENG, *On ideals in BCK-algebras*, Math. Japon., **40** (1994), 143–154.
- [16] X. OUGEN, *Fuzzy BCK-algebras*, Math. Japonica, **36** (5) (1991), 935–942.
- [17] A. ROSENFELD, *Fuzzy groups*, J. Math. Anal. Appl., **35** (1971), 512–517.
- [18] O.G. XI, *Fuzzy BCK-algebras*, Math. Japon., **36** (1991), 935–942.
- [19] C.C. XI, *On a class of BCI-algebras*, Math. Japon., **35**, (1990), 13–17.
- [20] L.A. ZADEH, *Fuzzy sets*, Inform. and Control, **8** (1965), 338–353.
- [21] X. ZHANG and J. HAO, *On p-ideals of a BCI-algebras*, Preprint.